7. Define recombinant DNA. How does it differ from

‘Gene Cloning’ ? BO-10
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8. What is polymerase chain reaction and how can

it be utilized for gene amplification ? BOTANY
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9. What are the major uses of transposons ? Time : 2 Hours | [ Maximum Marks : 35
THIEE ® ged Sy ¥ ? Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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. (1) Write the full form of DNA.
DNA &1 qU M fafe |
(i1) Write the main function of RNA.
RNA &1 &7 &1 fafeu|
(111) Who proposed double helical DNA model ?
DNA =1 fgpveata gfaeq feem aeqa feam ?
(iv) Define Gene.
St @1 AR wifs
(v) Write the fwo applications of PCR.
PCR & & smyart =i fafen |
(vi) What is Cloning Vector ?
FAMT FFT FME 2
(vii) Define Bio-technology.
- Ureifitent w1 qRefoa it |
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Section-B 4x7=28
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. Explain the Watson and Crick model of DNA.

18 Td e g0 f€8 DNA 99 &l J9ET |

. Discuss the different types of RNA.

RNA & fafim 9Ri 1 99smsu |

. Write on Okazaki fragments of DNA.

DNA & 3Tt @ve W femoi fafew |

. Explain the Tissue Culture.

FHash HaYT Sl SR

. Write note on ‘Laminar Air Flow’.
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